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Ajmal National Talent Search Examination, 2009
Class :  IV

Time/a]Ì̂  : 2 hours (H³Oôç) Full Marks˚ ˜≈Í¬ Ú•§1– (30+30+40)=100

INSTRUCTIONS ˚ øÚÀ√«˙±ª˘œ –¡

1. Attempt All Questions. ̊  õ∂ÀÓ¬…fl¡ÀÈ¬± õ∂ùü1 Î¬◊M√√1 fl¡1±º

2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d,

in the box ̊  õ∂øÓ¬ÀÈ¬± õ∂ùü1 ‰¬ø1È¬± ø¬ıfl¡ä Î¬◊M√√1 ø√̊ ˛± ’±ÀÂ√º qX Î¬◊M√√1ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘ ˛̊± ◊̋√√ fl¡± ∏̄Ó¬ Ôfl¡± ¬ı±fl¡‰¬Ó¬¡ a, b, c  ¬ı±¡ d ø˘ø‡¬ı±º

General Knowledge ˚ ¸±Ò±1Ì :±Ú

1. Complete the series ̊  ̧ •Û”Ì« fl¡1± ---

Problem figure  

a) b) c) d)

2. ‘Isse Jabardast setting Nahin’ is the slogan of ̊  ̋ ◊√√‰ƒ¬À¸ Ê√¬ı1√ô¶ Œ‰¬øÈ¬— ŒÚ √̋√œí Œù≠±·±ÚÀÈ¬± øfl¡ √̋√1∑

a) Pidilite ̊  ø¬ÛøÎ¬̆ ± ◊̋√√È¬ b) Fevi Kwik ̊  ŒÙ¬ø¬ı fl≈¡ ◊̋√√fl¡

c) Star Cement ̊  ©Ü±1 ø‰¬À˜KI◊ d) Band-Aid ̊  Œ¬ıG¤ ◊̋√√Îƒ¬

3. Which of the following does not produce its own food ̊  Ó¬˘1 Œfl¡±ÀÚ øÚÊ√1 ‡±√… øÚÀÊ√̋ ◊√√ ΔÓ¬ ˛̊±1 Úfl¡À1∑

a) Man ̊  ̃ ±Ú≈À √̋√ b) Animal ̊  Ê√c ◊̋√√ c) Plant ̊  Î¬◊øæ√À√ d) None of these ̊  ¤È¬±› Ú √̋√̊ ˛

4. Gir National Park is situated in the state of ̊  ·œ1 1±©Ü™œ ˛̊ Î¬◊√…±Ú‡Ú Œfl¡±Ú 1±Ê√…Ó¬ ’ªø¶öÓ¬∑

a) U.P. ̊  Î¬◊M√√1 õ∂À√˙ b) M.P ̊  ¬˜Ò… õ∂À√˙ c) Assam ̊  ’¸˜ d) Gujarat ̊  &Ê√1±È¬

5. Mummy is found in ̊  ë˜±˜œí fl¡íÓ¬ Œ¬Û±ª± ̊ ± ˛̊∑

a) India ̊  ̂ ¬±1Ó¬Ó¬ b) Egypt ̊  ̋ ◊√√øÊ√5Ó¬ c) Iran ̊  ̋ ◊√√1±ÌÓ¬ d) England ̊  ̋ ◊√√—À˘GÓ¬

6. Which is the nearest star ? ̊  ’±È¬± ◊̋√√Ó¬Õfl¡ ›‰¬1Ó¬ Ôfl¡± Ó¬1± ̋ √√í˘ --

a) Sun ̊  ̧ ”̊ «… b) Mars ̊  ̃ e˘√√ c) Venus ̊  qSê√¡ d) Saturn ̊  ̇ øÚ

7. Which is heavier in equal size ? ̊  ̧ ˜ ’±fl¡±1Ó¬ fl¡±1 ›Ê√Ú Œ¬ıøÂ√∑

a) Iron ̊  Œ˘± b) Gold ̊  Œ¸±Ì c) Silver ̊  1+¬Û d) Tungsten ̊  È¬±—À©ÜÚ

8. The ‘master organ of a human body’ is ̊  ̃ ±Ú≈̋ √√1 ̇ 1œ11 õ∂Ò±ÚÓ¬˜ ’—· øfl¡∑

a) Heart ̊  ̋ √√+√ø¬ÛG b) Brain ̊  ̃ ·Ê≈√ c) Eyes ̊  ‰¬fl≈¡ d) Stomach ̊  ¬Û±fl¡¶ö̆ œ

9. What is the minimum age to become the president of India ? ̊  ̂ ¬±1Ó¬1 1±©Ü™¬ÛøÓ¬ ̋ √√í¬ıÕ˘ øÚ•ßÓ¬˜ ¬ı ˛̧̊  øfl¡˜±Ú∑

a) 25 Years ̊  25 ¬ıÂ√1 b) 30 Years ̊  30 ¬ıÂ√1 c) 35 Years ̊  35 ¬ıÂ√1 d) 40 Years ̊  40 ¬ıÂ√1
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10. Who built the ‘Grand Trunk Road’ ? ̊  ¢∂±G ¬∏C±—fl¡ Œ1±Î¬ Œfl¡±ÀÚ øÚ «̃±Ì fl¡ø1øÂ√̆ ∑

a) Sher Shah Suri ̊  Œù´1Â√± √̋√ ̇ ”1œ b) Aurangzeb ̊  fi1—ÀÊ√¬ı

c) Shahjahan ̊  Â√± √̋√Ê√± √̋√±Ú d) Jahangir ̊  Ê√± √̋√±eœ1

11. Who wrote ‘Discovery of India’ ? ̊  ëëøÎ¬‰ƒ¬Àfl¡±ˆ¬±1œ ’ª ̋ ◊√√øG ˛̊±íí Œfl¡±ÀÚ ø˘ø‡øÂ√̆ ∑

a) RC. Majumdar ̊  ’±1. ø‰¬. ̃ Ê≈√̃ √±1 b) Jawaharlal Nehru ̊  Ê√ª± √̋√1˘±˘ ŒÚ √̋√1n∏

c) M.K. Gandhi ̊  ¤˜. Œfl¡. ·±gœ d) Sarojini Naidu ̊  ̧ À1±ø∏Ê√Úœ Ú± ◊̋√√Î≈¬

12. Which country does Shane Warne belong to ? ̊  Œù´Ú ª±Ì« Œfl¡±Ú Œ√̇ 1 Ú±·ø1fl¡∑

a) Sri Lanka ̊  ¿˘—fl¡± b) Australia ̊  ’À©Ü™ø˘˚̨± c) England ̊  ̋ ◊√√—À˘G d) Newzealand ̊  øÚÎ¬◊Ê√œÀ˘G

13. Which North-Eastern State-Capital is included in the Railway Map of India in 2008 ? ̊  2008 ‰¬ÚÓ¬ Œfl¡±Ú Î¬◊M√√1¬Û”¬ı«±=˘œ ˛̊

1±Ê√…1 1±Ê√Ò±Úœ Œ1˘Àª ̃ ±Úø‰¬SÓ¬ ’ôLˆ¬«”Mê√ Δ √̋√ÀÂ√∑

a) Itanagar˚ ̋ ◊√√È¬±Ú·1 b) Aizwal ̊  ’± ◊̋√√Ê√̆ c) Agartala ̊  ’±·1Ó¬˘± d) Imphal ̊  ̋ ◊√√•£¬̆

14. ‘Isko Laga Dala to Life Jingalala’ is related to the advertisement of– ̊  ë ◊̋√√‰ƒ¬Àfl¡± ̆ ±·± Î¬±˘±ÀÓ¬± ̆ ± ◊̋√√Ù¬ øÊ√e±˘±˘±í Œù≠±·±ÚÀÈ¬± øfl¡ √̋√1

ø¬ı:±¬ÛÚ1 ̆ ·Ó¬ Ê√øÎ¬ˇÓ¬∑

a) Dish TV ̊  øÎ¬Â√ øÈ¬øˆ¬ b) Tata Sky ̊  È¬±È¬± ¶®± ◊̋√√ c) Big TV ̊  ø¬ı· øÈ¬øˆ¬ d) None of these ̊  ¤È¬±› Ú √̋√̊ ˛

15. ‘Awami League’ is a political party of ̊  ë’±ª±˜œ ̆ œ·í Œfl¡±Ú Œ√̇ 1 1±Ê√ÕÚøÓ¬fl¡ √̆ ∑

a) India ̊  ̂ ¬±1Ó¬¬ı ∏̄« b) Malaysia ̊  ̃ ±˘À˚̨ø‰¬˚̨± c) Pakistan ̊  ¬Û±øfl¡ô¶±Ú d) Bangladesh ̊  ¬ı±—˘±À√̇

16. ‘Bharat Ratna’ in 2008 was awarded to ̊  2008 ‰¬ÚÓ¬ fl¡±fl¡ ̂ ¬±1Ó¬ 1P ø√̊ ˛± Δ √̋√øÂ√̆ ∑

a) Pt. Bhimsen Joshi ̊  ¬ÛøGÓ¬ ̂ ¬œ˜À¸Ú Œ˚±˙œ b) Sachin Tendulkar ̊  ̇ ‰¬œÚ ŒÓ¬G≈̆ fl¡±1

c) Manmohan Singh ̊  ̃ ÚÀ˜± √̋√Ú ø¸— d) Abhinav Bindra ̊  ’øˆ¬Úª ø¬ıf±

17. Find the odd one out – ̊  ’ø˜˘ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±º

a) b) c) d)

18. Complete the series:  3, 5, 8, 12, 17, ______ ̊  ̇ ‘—‡˘±ÀÈ¬± ̧ •Û”Ì« fl¡1±

a) 21 b) 23 c) 24 d) 34

19. Before Delhi, the capital of India was ̊  ø√~œ1 ¬Û”À¬ı« ̂ ¬±1Ó¬1 1±Ê√Ò±Úœ ’±øÂ√̆ ∑

a) Madras ̊  ̃ ±^±Ê√ b) Bombay ̊  Œ¬ı±À•§ c) Calcutta ̊  Œfl¡ø˘fl¡Ó¬± d) Patna ̊  ¬Û±È¬Ú±

20. Manas National park is mainly famous for ̊  ̃ ±Ú± √̋√ ’ˆ¬˚̨±1Ì… õ∂Ò±ÚÓ¬ øfl¡ √̋√1 ¬ı±À¬ı ø¬ı‡…±Ó¬

a) One-horned Rhino ̊  ¤ø˙ø„√√̊ ±̨ ·Î¬̌ b) Royal Bengal Tiger ̊  ŒÏ¬fl¡œ˚̨± ¬ÛÓ¬œ˚̨± ¬ı±‚

c) Wild Elephants ̊  ¬ıÚ1œ˚̨± ̋ √√±Ó¬œ d) Reptiles ̊  ̧ ±¬Û

21. Who among the following did not take part in the Quit India Movement in Assam? ̊  ’¸˜1 ¬Û1± Ó¬˘1 Œfl¡±ÚÊ√ÀÚ ̂ ¬±1Ó¬ Ó¬…±·

’±Àμ±˘ÚÓ¬ ’—˙ ¢∂˝√√Ì fl¡1± Ú±øÂ√˘∑

a) Kushal Konwar ̊  fl≈¡˙˘ Œfl¡±“ª1 b) Mukund Kakati ̊  ̃ ≈fl≈¡μ fl¡±fl¡Ó¬œ

c) Kanaklata Barua ̊  fl¡Úfl¡˘Ó¬± ¬ı1n∏ª± d) Jiuram Dhulia ̊  øÊ√Î¬◊1±˜ Ï≈¬˘œ˚̨±
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22. The famous ‘Loktak Lake’ is in ̊  ø¬ı‡…±Ó¬ Œ˘±·Ó¬fl¡ ̋ }√√√ fl¡íÓ¬∑

a) Assam ̊  ’¸˜Ó¬ b) Arunachal Pradesh ̊  ’1n∏Ì±‰¬˘Ó¬

c) Manipur ̊  ̃ øÚ¬Û≈1 d) Nagaland ̊  Ú±·±À˘G

23. The river ‘Kamlang’ passes through the state of ̊  fl¡˜˘±— Ú√œ Œfl¡±Ú 1±Ê√…1 ̃ ±ÀÊ√À1 Δ¬ı Δ·ÀÂ√∑

a) Arunachal Pradesh ̊  ’1n∏Ì±‰¬˘ õ∂À√̇ b) Assam ̊  ’¸˜

c) Mizoram ̊  ø˜ÀÊ√±1±˜ d) Nagaland ̊  Ú±·±À˘G

24. Find the odd one out ̊  ø¬ı¸±‘√̇ ÀÈ¬± ¬ı±ø‰¬ Î¬◊ø˘›ª±

a) Uranus ̊  ̋ ◊√√Î¬◊À1Ú±‰¬ b) Mars ̊  ̃ „√√˘ c) Pluto ̊  õ≠≈ÀÈ¬± d) Jupiter ̊  ¬ı‘̋ √√¶ÛøÓ¬

25. On 15th August, the P.M of India addresses the nation from ̊  15 ’±·©ÜÓ¬ õ∂Ò±Ú˜LaœÀ ˛̊ fl¡í1 ¬Û1± 1±©Ü™¬ı±¸œÕ˘ ̂ ¬± ∏̄Ì ø√À ˛̊∑

a) India Gate ̊  ̋ ◊√√øG˚̨± Œ·È¬ b) Red Fort ˚ Œ1Î¬ Ù¬íÎ«¬

c) Kutub Minar ̊  fl≈¡Ó≈¬¬ı ø˜Ú±1 d) Raj Ghat ̊  1±Ê√‚±È¬

26. All the currency notes are issued by ̊  Œfl¡±ÀÚ ̧ fl¡À˘± ̃ ≈̂ ± õ∂‰¬˘Ú fl¡À1∑

a) The Reserve Bank of India˚ø1Ê√±ˆ¬« Œ¬ı—fl¡ ’¬ı ̋ ◊√√øG˚̨± b) State Bank of India ̊  Œ©ÜÈ¬ Œ¬ı—fl¡ ’¬ı ̋ ◊√√øG ˛̊±

c) United Bank of India ̊  ̋ ◊√√Î¬◊Ú± ◊̋√√ÀÈ¬Î¬ Œ¬ı—fl¡ ̋ ◊√√øG˚̨± d) Punjab National Bank ̊  ¬Û±?±¬ı ŒÚ‰¬ÀÚ˘ Œ¬ı—fl¡

27. Find the odd one out ̊  ’ø˜˘ÀÈ¬± ø¬ı‰¬±ø1 Î¬◊ø˘›ª±º

a) b) c) d)

28. In a computer CPU stands for? ̊  fl¡ø•ÛÎ¬◊È¬±1Ó¬ CPU ̃ ±ÀÚ øfl¡∑

a) Central Productive Unit ̊  Œ‰¬ÀKC˘ õ∂Î¬±ø"√√̂ ¬ ̋ ◊√√Î¬◊øÚÈ¬

b) Central Processing Unit ̊  Œ‰¬ÀKC˘ õ∂À‰¬øÂ√— ̋ ◊√√Î¬◊øÚÈ¬

c) Computer Processing Unit ̊  fl¡ø•ÛÎ¬◊È¬±1 õ∂À‰¬øÂ√— ̋ ◊√√Î¬◊øÚÈ¬

d) Computer Productive Unit ̊  fl¡ø•ÛÎ¬◊È¬±1 õ∂Î¬±ø"√√̂ ¬ ̋ ◊√√Î¬◊øÚÈ¬

29. The mobile network ‘Tata Indi Com’ has the technology of– ̊  Œ˜±¬ı± ◊̋√√̆  ŒÚÈ¬ªfl«¡ ëÈ¬±È¬± ̋ ◊√√øGfl¡˜íÓ¬ øfl¡ õ∂ ≈̊øMê√ ¬ı…ª √̋√±1 fl¡À1∑

a) FDMA ˚ ¤Ù¬ øÎ¬ ¤˜ ¤ b) TDMA ˚ øÈ¬ øÎ¬ ¤˜ ¤

c) CDMA ̊  ø‰¬ øÎ¬ ¤˜ ¤ d) None of the above ̊  ¤È¬±› Ú √̋√̊ ˛

30. Which of the following places in Mumbai was not affected in the 26/11 terrorist attack? ̊  26 ÚÀ ¬̂•§1Ó¬ Ó¬̆ Ó¬ ø√̊ ±̨ ̃ ≈•§± ◊̋√√1 Œfl¡±Ú

Í¬± ◊̋√√Ó¬ ̧ La±¸¬ı±√œÀ ˛̊ ’±Sê˜Ì fl¡1± Ú±øÂ√̆ ∑

a) Taj Palace ̊  Œ √̋√±ÀÈ¬˘ Ó¬±Ê√ b) Nariman House ̊  Ú±ø1˜±Ú ̋ √√±Î¬◊‰¬

c) CST Station ̊  Â√S¬ÛøÓ¬ ø˙¬ı±Ê√œ Œ1˘Àª Œ©Ü‰¬Ú d) Bandra ̊  ¬ı±f±

General Science ˚ ¸±Ò±1Ì ø¬ı:±Ú

31. What are the respiratory organ(s) present in frog ? ̊  Œˆ¬fl≈¡˘œ1 ù´±¸ ’e¸ ”̃̋ √√ øfl¡ øfl¡ ∑

a) only lungs ̊  Œfl¡ª˘ ̋ √√±“›Ù¬±›“ b) lungs, skin and gills ̊  ̋ √√±“›Ù¬±›“, Â√±˘ ’±1n∏ Ù≈¬˘

c) lungs and skin ̊  ̋ √√±“›Ù¬±›“ ’±1n∏ Â√±˘ d) only skin ̊  Œfl¡ª˘ Â√±˘
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32. Plants growing on high walls or on tall trees obtain water from ̊  ›‡ Œ√ª±˘ ¬ı± ·Â√Ó¬ ·Ê√± Î¬◊øæ√À√ fl¡í1 ¬Û1± ¬Û±Úœ ̧ —¢∂ √̋√ fl¡À1∑

a) the source on which they are growing ̊  ø˚ Í¬± ◊̋√√Ó¬ ·ÀÊ√ Ó¬±1 ¬Û1±

b) the land ̊  ̃ ±øÈ¬1 ¬Û1± c) water bodies ̊  ¬Û±Úœ1 Î¬◊»¸1 ¬Û1±

d) the moisture present in the atmosphere ̊  ¬ı± ˛̊≈Ó¬ Ôfl¡± Ê√̆ œ ˛̊ ¬ı±©Û1 ¬Û1±

33. Which of the following is not a function of the roots ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± ø˙¬Û±1 fl¡± «̊ Ú √̋√̊  ̨∑

a) anchoring of plant ̊  ·Â√ÀÊ√±¬Û±fl¡ Òø1 1‡± b) Absorption of water ̊  ¬Û±Úœ Œ˙± ∏̄Ì fl¡1±

c) Conduction of minerals ̊  ‡øÚÊ√ ¬Û√±Ô« fl¡øÏ¬̌›ª± d) preparation of strach ̊  Œù´Ó¬¸±1 õ∂dÓ¬ fl¡1±

34. The animal which has wings but has no feathers is ̊  ŒÎ¬Î¬◊fl¡± ’±ÀÂ√ øfl¡c ¬Û±ø‡ Ú± ◊̋√√, ŒÓ¬ÀÚ ¤ø¬ıÒ õ∂±Ìœ Δ √̋√ÀÂ√---

a) bat ̊  ¬ı±≈√˘œ b) bee ˚ Œ˜Ã˜±ø‡ c) bird ̊  ‰¬1± ◊̋√√ d) butterfly ̊  ¬Ûø‡˘±

35. Which of the following is not an insect ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± ¬ÛÓ¬e Ú √̋√̊ ∑̨

a) Bee ̊  Œ˜Ã-˜±ø‡ b) Spider ̊  ̃ fl¡1± c) Butterfly ̊  ¬Ûø‡˘± d) Ant ̊  ¬Û1n∏ª±

36. The bile juice digests ̊  ø¬ÛM√√1À¸ ¬Û±‰¬Ú fl¡À1 --

a) proteins ̊  õ∂íøÈ¬Ú b) fats ̊  ‰¬¬ı«œ c) starches ̊  Œù´Ó¬¸±1 d) none of them ̊  ¤È¬±› Ú √̋√̊ ˛

37. Which of the following destroy germs present in water ̊  Ó¬˘1 Œfl¡±Úø¬ıÀÒ ¬Û±ÚœÓ¬ Ôfl¡± ¬ıœÊ√±Ì≈ Ò√ı—¸ fl¡À1∑

a) boiling ̊  Î¬◊Ó¬˘œfl¡1Ì b) clorine ̊  flv¡íø1Ì

c) potassium permanganate ̊  ¬ÛÈ¬±øÂ√̊ ±̨˜ ¬Û±1˜±e±ÀÚÈ¬ d) all the above ̊  ’±È¬± ◊̋√√Àfl¡ ◊̋√√È¬±

38. Which of the following give us more energy? ̊  Ó¬˘1 Œfl¡±Úø¬ıÀÒ ’øÒfl¡ ̇ øMê√1 Œ˚±·±Ú ÒÀ1∑

a) fats ̊  ‰¬¬ı«œ b) carbohydrates ̊  fl¡±¬ı«̋ √√± ◊̋√√ÀEÈ¬

c) protein ̊  õ∂íøÈ¬Ú d) vitamins ̊  ø ¬̂È¬±ø˜Ú

39. Flowing water has the capacity to do work ̊  Œ¬ı±ªÓ¬œ ¬Û±ÚœÀ ˛̊ fl¡± «̊ ̧ •Û±√Ú fl¡ø1¬ı ¬Û±À1 ---

a) True ̊  ̧ “‰¬± b) False ̊  ø˜Â√± c) Both ̊  ≈√À˚̨±È¬± d) None ̊  ¤È¬±› Ú √̋√̊ ˛

40. Heat energy is converted into mechanical energy in ̊  Œfl¡±ÚÀÈ¬± Œé¬SÓ¬ Ó¬±¬Û˙øMê√ ̊ ±øLafl¡ ̇ øMê√Õ˘ 1+¬Û±ôL1 ̋ √√̊ ∑̨

a) Buses ̊  ¬ı±Â√ b) Fan ̊  ¬Û±∫± c) Loud speakers ̊  ̆ ±Î¬◊Îƒ¬ ø¶Ûfl¡±1

d) Mixie ̊  ø˜ø'

41. Which of the following properties is different for solids, liquids and gases ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± Ò «̃ fl¡øÍ¬Ú, Ó¬1˘ ’±1n∏ Œ·Â√1 ¬ı±À¬ı øˆ¬iß

√̋√̊ ˛ ∑

a) energy exchanges ̊  ̇ øMê√1 ø¬ıøÚ˜˚̨ b) mass of the substance˚ ¬Û√±Ô«1 ̂ ¬1

c) movement of the molecules ̊  ’Ú≈1 ̧ =±˘Ú d) particle size ̊  ’Ú≈1 ’±fl¡±1

42. Which of the following is not a form of energy ? ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ ̇ øMê√ Ú √̋√̊ ∑̨

a) heat ̊  Ó¬±¬Û b) light ̊  Œ¬Û± √̋√1 c) temperature ̊  Î¬◊̄ ûÓ¬± d) electricity ̊  ø¬ı≈√…Ó¬

43. Which of the following is a good conductor of heat ? ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± Ó¬±¬Û1 ̧ ≈¬Ûø1¬ı± √̋√œ∑

a) cork ̊  fl¡fl«¡ b) glass ̊  ¢≠±Â√ c) porcelain ̊  ¬Ûø‰«¬À˘Ú d) copper ˚ Ó¬±˜
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44. Metallic pollutant released by automobiles is ̊  ̊ ±Ú¬ı± √̋√ÀÚ øÚ·«Ó¬ fl¡1± Ò±Ó¬ªœ˚̨ õ∂≈√̄ ∏fl¡ ̋ √√í˘ --

a) arsenic ̊  ’±À‰«¬øÚfl¡ b) cadmium ̊  Œfl¡Îƒ¬ø˜˚̨±˜ c) lead ̊  ̧ œ √̋√ d) mercury ̊  ¬Û±1±

45. Which of the following gas is released during photosynthesis ? ̊  ̧ ±À˘±fl¡ ̧ —Àù≠ ∏̄ÌÓ¬ øfl¡ Œ·Â√ øÚ·«Ó¬ ̋ √√̊  ̨∑

a) oxygen ̊  ’ø'ÀÊ√Ú b) nitrogen ̊  Ú± ◊̋√√¬∏CÀÊ√Ú c) carbondioxide ̊  fl¡±¬ı«Ú Î¬± ◊̋√√ ’'± ◊̋√√Î¬

d) manure ̊  ̧ ±1

46. Which of the following is a plant fibre ̊  Ó¬˘1 Œfl¡±ÚÀÈ¬± Î¬◊øæ√√ ’±“̋ √√ ---

a) wool ̊  ÿÌ b) silk ̊  Œ1‰¬˜ c) linen ̊  ̆ œÀÚÚ d) nylon ̊  Ú± ◊̋√√̆ Ú

47. If your diet does not contain enough roughage, then you are likely to suffer from ̊  ̊ ø√ ŒÓ¬±˜±1 ’± √̋√±1Ó¬ ̊ ÀÔ©Ü ’±“̋ √√̊ ≈Mê√ ‡±√…

ŒÚÔ±Àfl¡ ŒÓ¬ÀôL øfl¡˝√√1 ¡Z±1± ’±Sê±ôL Œ˝√√±ª±1 ̧ y±ªÚ± Ô±Àfl¡∑

a) obesity ̊  Œ˜√¬ıU˘Ó¬± b) indigestion ̊  ’Ê√œÌ« c) dehydration ̊  øÚ1+√Ú d) constipation˚Œfl¡Ãá¬fl¡±øÍ¬Ú…Ó¬±

48. The earth always spins on its own axis from ̊  ¬Û‘øÔªœÀ ˛̊ ̧ √± ˛̊ øÚÊ√ ’é¬Ó¬ Œfl¡±Úø√̇ Õ˘ ‚”À1 ∑

a) west to east ˚ ¬Ûø(˜1 ¬Û1± ¬Û”¬ıÕ˘ b) east to west ˚ ¬Û”¬ı1 ¬Û1± ¬Ûø(˜Õ˘

c) south to north ̊  √øé¬Ì1 ¬Û1± Î¬◊M√√1Õ˘ d) north to south ̊  Î¬◊M√√11 ¬Û1± √øé¬ÌÕ˘

49. One Light year is ̊  ¤fl¡ ’±À˘±fl¡ ¬ı ∏̄« ̋ √√í˘ ---

a) 365 days ̊  ø√Ú b) 365¼ days ̊  ø√Ú c) 9.3 × 1012 km˚øfl¡–ø˜– d) none of these˚¤È¬±› Ú √̋√̊ ˛

50. The disease that spreads from person to person by direct physical contact is ̊ ¸—¶Û «̇1 ¡Z±1± ¤Ê√Ú1 ¬¬Û1± ’±ÚÊ√ÚÕ˘ ø¬ı˚̨¬Û± Œ1±·

√̋√í˘--

a) measles ̊  ̧ 1n∏ ’± ◊̋√√ b) cough ̊  fl¡±“̋ √√ c) tuberculosis ̊  ̊ Ñ± d) tetanus ̊  ÒÚ≈©Ü—fl¡±1

51. Gold is measured in ̊  Œ¸±Ì ŒÊ√±‡± ̋ √√̊ ˛

a) kilograms ̊  øfl¡–¢∂±–Ó¬ b) grams ̊  ¢∂±˜Ó¬ c) milligrams ̊  ø˜ø˘¢∂±˜Ó¬

d) gram and milligram ̊  ¢∂±˜ ’±1n∏ ø˜ø˘¢∂±˜Ó¬

52. Which animal cares for its young ones ? ̊  Œfl¡±Úø¬ıÒ Ê√cÀª øÚÊ√1 Œ¬Û±ª±˘œ1 ̊ P ̆ ˛̊∑

a) Crocodile ̊  ‚1œ ˛̊±˘ b) Snake ̊  ̧ ±¬Û c) Cat ˚ Œ˜fl≈¡1œ d) Lizard ̊  ŒÊ√Í¬œ

53. Which of the following is used to remove grease and oil stains ? ̊  Ó¬˘1 Œfl¡±Úø¬ıÀÒ ø¢∂Ê√ ’±1n∏ ŒÓ¬˘1 √±· ’±“Ó¬1±¬ıÕ˘ ¬ı…ª √̋√±1 fl¡1± ̋ √√̊ º̨

a) soap ̊  ‰¬±À¬ı±Ú b) petrol ̊  Œ¬Û¬∏Cí˘ c) benzene ̊  Œ¬ıø?Ú

b) both (b) and (c) ̊  [b] ’±1n∏ [c] ≈√À ˛̊±È¬± ◊̋√√

54. Liquid exerts pressure equally in all direction. This was first proved by ̊  Ê≈√̆ œ˚̨± ¬Û√±Ô«̋ ◊√√ ̧ fl¡À˘± ø√̇ Ó¬ ̧ ˜±ÀÚ ‰¬±¬Û ø√À˚̨º Œ¬Û±Ú õ∂ÔÀ˜

◊̋√√ ˛̊±fl¡ õ∂˜±Ì fl¡ø1øÂ√˘ ---

a) Archimedes ̊  ’±øfl«¡ø˜øÎ¬ÀÂ√ b) Blaise Pascal ̊  Œ¬ıv̋ ◊√√‰¬ ¬Û±‰ƒ¬Àfl¡À˘

c) Issac Newton ̊  ’± ◊̋√√Ê√±fl¡ øÚÎ¬◊È¬ÀÚ d) Galileo ̊  Œ·ø˘ø˘À˚̨

55. Find the odd one ̊  ’ø˜˘ÀÈ¬± ¬ı±øÂ√ Î¬◊ø˘›ª±

a) cow ̊  ·1n∏ b) rabbit ̊  ̇ √̋√±¬ÛU c) earthworm ̊  Œfl“¡‰≈¬ d) monkey ̊  ¬ı±μ1
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56. Which of the following plants float on the surface of water ̊  ¬Û±Úœ1 ›¬Û1Ó¬ Î¬◊¬Ûø„√√ Ôfl¡± Î¬◊øæ√√ÀÈ¬± Δ √̋√ÀÂ√ ---

a) pistia ̊  ø¬Ûøô¶˚̨± b) hydrilla ̊  ̋ √√± ◊̋√√øE˘± c) lotus ̊  ¬Û≈√̃ d) none of these˚ ¤È¬±› Ú √̋√̊ ˛

57. Which of the following fertilizer contain nitrogen ̊  Ó¬˘1 Œfl¡±Úø¬ıÒ ̧ ±1 Ú± ◊̋√√¬∏CíÀÊ√Ú ̊ ≈Mê√∑

a) potassium chloride ̊  ¬ÛÈ¬±øÂ√̊ ±̨˜ flv¡í1± ◊̋√√Î¬ b) superphosphate ̊  ‰≈¬¬Û±1 Ù¬Â√ÀÙ¬È¬

c) urea ̊  ̋ ◊√√Î¬◊ø1 ˛̊± d) potassium sulphate ̊  ¬ÛÈ¬±ø‰¬˚̨±˜

58. The gas particles of Ionosphere are electrically charged by ̊  ’±˚̨Úô¶11 Œ·Â√œ˚̨ fl¡Ì±À¬ı±1fl¡ ’±ø √̋√Ó¬ fl¡À1

a) cosmic rays ̊  ̃ √̋√±Ê√±·øÓ¬fl¡ 1ù¨œÀ˚̨ b) solar rays ̊  Œ¸Ã1˙øMê√À ˛̊

c) (a) or (b) ̊  [a] ’±1n∏ [b] Î¬◊ˆ¬À˚˛ d) none of these ̊  ¤È¬±› Ú √̋√̊ ˛

59. The best laboratory process to remove dissolved substances from the solvent is ̊  ·Àª¯∏Ì±·±1Ó¬ ̂ ª1 ¬Û1± ̂ ªœˆ¬”Ó¬ ¬Û√±Ô«fl¡

’¬Û¸±1Ì fl¡ø1¬ı ¬Û1± Î¬◊M√√˜ õ∂øSê ˛̊±ÀÈ¬± ̋ √√í˘---

a) sublimation ̊  Î¬◊X«¬Û±Ó¬Ú b) sedimentation ̊  ’ªÀé¬¬ÛÚ

c) filtration ̊  ¬Ûø1|±ªÌ d) distillation ̊  ¬Û±Ó¬Ú

60. An example of aquatic mammal is ̊  ¬Û±ÚœÓ¬ Ôfl¡± ô¶Ú…¬Û±˚̨œ õ∂±Ìœ1 Î¬◊√± √̋√1Ì ̋ √√í˘--

a) turtle ̊  fl¡±Â√ b) whale ̊  øÓ¬ø˜ c) crocodile ̊  ‚“1œ ˛̊±˘ d) frog ̊  Œˆ¬fl≈¡˘œ

General Mathematic ˚ ¸±Ò±1Ì ·øÌÓ¬

61. Difference between the place value of  3 and 7 in 6,380,942 and 5,107,289 is [6,380,942 ’±1n∏ 5,107,289 Ó¬ 3 ’±1n∏ 7 1

¶ö±Úœ ˛̊ ̃ ±Ú1 ¬Û±Ô«fl¡… ̋ √√í¬ıº]

a) 29,300 b) 273,000 c) 27,300 d) 293,000

62. The value of  555 × 193 – 555 × 93 is  (555 × 193 – 555 × 93 1 ˜±Ú ˝√√í¬ı)

a) 555, 931 b) 1,210,321 c) 53,912 d) 55,500

63. A prime number  [¤È¬± Œ˜Ãø˘fl¡ ̧ —‡…±Ó¬]

a) has exactly one factor [˜±S ¤È¬±À √̋√ Î¬◊»¬Û±√fl¡ Ô±Àfl¡] b) has exactly two factors [˜±S ≈√È¬±À √̋√ Î¬◊»¬Û±√fl¡ Ô±Àfl¡]

c) is not divisible by 2 [2 Œ1 ø¬ıˆ¬±Ê√… Ú √̋√̊ ]̨ c)  is an odd number [¤È¬± ’ ≈̊¢¨ ̧ —‡…±]

64. Angle °=∠ 90ABC . One third of it is [ °=∠ 90ABC  ̋ ◊√√̊ ˛±1 ¤fl¡ Ó‘¬Ó¬œ ˛̊±—˙ ̋ √√í¬ı]

a) Right angle [¤È¬± ̧ ˜Àfl¡±Ì] b) Obtuse angle [¶ö”̆  Œfl¡±Ì]

c) Acute angle [ ”̧Ñ Œfl¡±Ì] d) None of these [¤È¬±› Ú √̋√̊ ˛]

65. How many plane faces does a cube have ? [¤È¬± ‚Úfl¡1 Œfl¡ ◊̋√√È¬± ̧ ˜Ó¬˘ Ô±Àfl¡]

a) 2 b) 4 c) 6 d) 8

66. The smallest prime factor of 1001 is [1001 1 é≈¬^Ó¬˜ Œ˜Ãø˘fl¡ Î¬◊»¬Û±√fl¡ ̋ √√í˘]

a) 7 b) 5 c) 3 d) 11
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67. Total Number of students in a school is 240. If 
5

2
 of total students are girls, then half of boys number is [¤‡Ú ø¬ı√…±˘˚̨1 Â√±S-

Â√±Sœ1 ̃ ≈Í¬ ̧ —‡…± 240 Ó¬±À1 
5

2
 ’—˙ ̊ ø√ Â√±Sœ ̋ √√˚˛ ŒÓ¬ÀôL ̃ ≈Í¬ Â√±S1 ’±Ò± ’—˙ ̋ √√í¬ı--]

a) 88 b) 66 a) 77 d) None of these

68. A garden is 40m long and 35m broad. Its perimeter is [¤‡Ú ¬ı±ø·Â√±1 √œ‚ 40 ø˜– ’±1n∏ ¬ı˝√√˘ 35 ø˜– ̋ ◊√√ ˛̊±1 ¬Ûø1¸œ˜± ̋ √√í¬ı--]

a) 140m (ø˜–) b) 130m (ø˜–) c) 150m (ø˜–) d) 110m (ø˜–)

69. The smallest number of the following is [Ó¬˘1 ’±È¬± ◊̋√√Ó¬Õfl¡ ̧ 1n∏ ̧ —‡…±ÀÈ¬± ̋ √√í¬ı--]

a) 9.002 b) 9.020 c) 9.120 d) 9.200

70. Area of a square is 121 sqm. Thrice its side measures [¤È¬± ¬ı·«1 Œé¬SÙ¬˘ 121 ¬ı·« ø˜– ̋ ◊√√ ˛̊±1 ¤È¬± ¬ı±U1 øÓ¬øÚ&Ì1 ¬Ûø1˜±Ì ̋ √√í¬ı--]

a) 22 cm [ŒÂ√–ø˜–] b) 11m [ø˜–] c) 330 cm [ŒÂ√–ø˜–] d) 2200 cm [ŒÂ√–ø˜–]

71. The decimal form of 
1000

345
 is [

1000

345
 1 √̇ ø˜fl¡ 1+¬ÛÀÈ¬± ̋ √√í¬ı--]

a) 0.345 b) 0.0345 c) 3.450 d) .00345

72. The product of prime numbers between 1 to 10 is [1 ’±1n∏ 10 1 ̃ ±Ê√1 Œ˜Ãø˘fl¡ ̧ —‡…±Àfl¡ ◊̋√√È¬±1 ¬Û”1ÌÙ¬˘ ̋ √√í¬ı--]

a) 210 b) 350 c) 530 d) None of these[¤È¬±› Ú √̋√̊ ˛]

73. The shade part in the following figure represents [Ó¬˘Ó¬ ø√̊ ±̨ ø‰¬SÓ¬ Â√±“À1 ’±¬ı‘Ó¬ ’—˙ ◊̋√√ ̧ ”‰¬±˚̨--]

a)
4

3
b)

4

1
c)

8

1
d)

8

3

74. A > B > C  and  B is an even number if A = 12, C = 8  then what is the value of B [ A>B>C ’±1n∏ B ¤È¬± ˚≈¢¨ ¸—‡…±º

˚ø√ A=12, C=8 ŒÓ¬ÀôL  B 1 ̃ ±Ú øfl¡ ̋ √√í¬ı]

a) 11 b) 9 c) 14 d) None of these[¤È¬±› Ú √̋√̊ ˛]
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75. A circle  is inscribed in a square as shown below. If the radius of the circle is 3 cm, then area of the square is [Ó¬˘Ó¬ Œ√‡≈ª±

√À1 ¤È¬± ¬ı·«Àé¬S1 øˆ¬Ó¬1Ó¬ ¬ı‘M√√ ¤È¬± ’“fl¡± ̋ √√í˘º ̊ ø√ ¬ı‘M√√ÀÈ¬±1 ¬ı…±¸±X« 3 ŒÂ√–ø˜– ̋ √√ ˛̊ ŒÓ¬ÀôL ¬ı·«Àé¬SÀÈ¬±1 fl¡±ø˘ ̋ √√í¬ıº]

a) 9 sqcm [¬ı·« ŒÂ√–ø˜–] b) 36 sqcm [¬ı·« ŒÂ√–ø˜–] c) 24 sqcm [¬ı·« ŒÂ√–ø˜–] d) None of these [¤È¬±› Ú √̋√̊ ]̨

76. At 3pm the two hands of the clock at right angled to each other. At what time the hands of the clock will be again at right.

angled to each other ? [ø¬ı ˛̊ø˘ 3 ¬ıÊ√±Ó¬ ‚Î¬ˇœ1 fl¡±“È¬± ≈√Î¬±˘ ̧ ˜Àfl¡±Ì ’ª¶ö±Ó¬ Ô±Àfl¡º ¬¬Û≈Ú1 Œfl¡ ◊̋√√È¬± ¬ıÊ√±Ó¬ fl¡±“È¬± ≈√Î¬±˘ ¬Û1¶Û1 ̧ ˜Àfl¡±Ì ’ª¶ö±Ó¬

Ô±øfl¡¬ıÕ·∑]

a)  3–15pm [ø¬ı˚˛ø˘] b) 3–45pm [ø¬ı˚˛ø˘] c) 3–30pm [ø¬ı˚˛ø˘] d) None of these [¤È¬±› Ú √̋√̊ ]̨

77. The average of three number is 30. Of them two numbers are 20 and 40. The third number is [øÓ¬øÚÈ¬± ̧ —‡…±1 ·Î¬̌ 30, Ó¬±À1

≈√È¬± ̧ —‡…± 20 ’±1n∏ 40 ̋ √√À˘ Ó‘¬Ó¬œ ˛̊ ̧ —‡…±ÀÈ¬± ̋ √√í¬ı---]

a) 10 b) 25 c) 30 d) 35

78. The perimeter of a rectangle whose length is 
2

1
m is 1m, 15cm. The breadth will be [

2

1
 ø˜– √œ‚˘ ¤È¬± ’±˚̨Ó¬ Œé¬S1 ¬Ûø1¸œ˜±

1 ø˜– 15 ŒÂ√–ø˜–º ŒÓ¬ÀôL ̋ ◊√√˚˛±1 õ∂¶ö ̋ √√í¬ı-- ]

a) 7.5 cm [ŒÂ√–ø˜–] b)
4

1
m [ø˜–] c) .15 cm [ŒÂ√–ø˜–] d) None of these [¤È¬±› Ú √̋√̊ ˛]

79. On subtracting 
8

3
 from 

16

6
 a boy writes the following which one is correct ? [

16

6
1 ¬Û1± 

8

3
 ø¬ıÀ˚̨±· fl¡À1±“ÀÓ¬ ¤Ê√Ú ̆ í1± ◊̋√√ qXÕfl¡

Œfl¡±ÚÀÈ¬± ø˘ø‡¬ı∑]

a) 1 b)
4

1
c) 0 d)

16

3

80. Which one of the following is an equivalent fraction ? [Ó¬˘1 Œfl¡±ÚÀÈ¬± ̧ ˜˜±Ú1 ̂ ¬¢ü±—˙∑]

a)
36

9
  
,3

1
b)

64

21
  
,16

7
c)

30

12
  
,5

2
d)

8

2
  
,2

1

81. A number is divisible by 10 whose unit place is [10 Œ1 ø¬ıˆ¬±Ê√… ¤È¬± ̧ —‡…±1 ¤fl¡fl¡1 ¶ö±ÚÓ¬ Ô±øfl¡¬ı---]

a) 5 b) 0 c) 1 d) 2

 

82. Right symbol in place of * of the following  200 + 44    *   244 – 33 be [ 200 + 44    *   244 – 33 1 ̃ ±Ê√1 * 1 ¬Ûø1ªÀÓ«¬ qX

ø‰¬˝êÀÈ¬± ̋ √√í¬ı--]

a) = b) < c) > d) None of these [¤È¬±› Ú √̋√̊ ]̨

83. Total numbers of triangles by joining the four corners of the following figure will be [Ó¬˘1 Â√ø¬ıÀÈ¬±1 ‰¬±ø1›È¬± Œfl¡±Ì ̧ —˘¢ü fl¡ø1

Œ¬Û±ª± øSˆ¬≈Ê√1 ̧ —‡…± ̋ √√í¬ı---]

a) 2 b) 4 c) 6 d) 8
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84. The lengths of two sides of a triangle are 15 cm and 20 cm. The perimeter of it is 60cm. The length of the third side will

be [¤È¬± øSˆ¬≈Ê√1 ≈√È¬± ¬ı±U1 Δ√‚«… 15 ŒÂ√–ø˜– ’±1n∏ 20 ŒÂ√–ø˜–º øSˆ¬≈Ê√ÀÈ¬±1 ¬Ûø1¸œ˜± 60 ŒÂ√–ø˜– ̋ √√íÀ˘ ̋ ◊√√˚˛±1 Ó‘¬Ó¬œ˚˛ ¬ı±U1 Δ√‚«… ̋ √√í¬ı---] 

a) 25cm [ŒÂ√–ø˜–] b) 30cm [ŒÂ√–ø˜–] c) 35cm [ŒÂ√–ø˜–] d) None of these [¤È¬±› Ú √̋√̊ ]̨

85. Similarity between a square and a ractangle is [¬ı·«Àé¬S ’±1n∏ ’±˚̨Ó¬Àé¬S1 ̧ ±‘√̇ … ’±ÀÂ√--]

a) Area [fl¡±ø˘] b) Sides [¬ı±UÀ¬ı±1]¡ c) Angles [Œfl¡±ÌÀ¬ı±1] d) None of these [¤È¬±› Ú √̋√̊ ]̨

86. A polygon is a figure bounded by more than [¬ıUˆ¬≈Ê√Àé¬S Œfl¡ ◊̋√√È¬± ’øÒfl¡ ¬ı±UÀ1 ’±&1± ∑]

a) two sides [≈√È¬±] b) three sides [øÓ¬øÚÈ¬±] c) four sides [‰¬±ø1È¬±] d) None of these [¤È¬±› Ú √̋√̊ ]̨

87. Of a square four sides and four angles are [¬ı·«Àé¬S ¤È¬±1 ‰¬±ø1È¬± ¬ı±U ’±1n∏ ‰¬±ø1È¬± Œfl¡±Ì]

a) Not equal [¸˜±Ú Ú √̋√̊ ˛] b) Equal [¸˜±Ú]

c) Only sides are equal [˜±S ¬ı±UÀ¬ı±1 ¸˜±Ú] d) Only angles are equal [˜±S Œfl¡±ÌÀ¬ı±1 ̧ ˜±Ú]

88. Number of days in the year 1992 will be [1992 ‰¬ÚÓ¬ ̃ ≈Í¬ ø√Ú1 ̧ —‡…±--]

a) 365 b) 366 c) 365½ d) None of these [¤È¬±› Ú √̋√̊ ]̨

89. The result of addition and subtraction of two numbers are 80 and 20 respectively. Their product will be [≈√È¬± ̧ —‡…±1

Œ˚±·Ù¬˘ ’±1n∏ ø¬ıÀ ˛̊±·Ù¬˘ SêÀ˜ 80 ’±1n∏ 20 ̋ √√íÀ˘ ̋ ◊√√˝√√“Ó¬1 ¬Û”1ÌÙ¬˘ ̋ √√í¬ı---]

a) 1500 b) 1600 c) 1200 d) None of these [¤È¬±› Ú √̋√̊ ]̨

90. The product of the shaded parts ? [Â√±“À1 ’±¬ı‘Ó¬ ’—˙ ≈√È¬±1 ¬Û”1ÌÙ¬˘ ̋ √√í¬ı--]

a)
36

7
b)

36

5
c)

36

11
d) None of these [¤È¬±› Ú √̋√̊ ]̨

91. Which of the following is divisible by 9 [Ó¬˘1 Œfl¡±ÚÀÈ¬± 9 Œ1 ø¬ıˆ¬±Ê√…]

a) 2378 b) 2379 c) 83601 d) None of these [¤È¬±› Ú √̋√̊ ]̨

92. The difference between the highest and the lowest 3 digit numbers using 1, 2, 0 be [1, 2, 0 ¬ı…ª √̋√±1 fl¡ø1 øÓ¬øÚÈ¬± ’—fl¡À1 ø˘ø‡¬ı

¬Û1± ’±È¬± ◊̋√√Ó¬Õfl¡ Î¬±„√√1 ’±1n∏ ’±È¬± ◊̋√√Ó¬Õfl¡ ̧ 1n∏ ̧ —‡…±1 ’ôL1Ù¬˘ ̋ √√í¬ı---]

a) 81 b) 18 c) 08 d) None of these [¤È¬±› Ú √̋√̊ ]̨

93. The simplest form of 17.5 + 25.5 ÷ 0.5 – 7.2 is [17.5 + 25.5 ÷ 0.5 – 7.2 1 ̧ 1˘±fl‘¡Ó¬ ̃ ±Ú ̋ √√í¬ı--]

a) 40.8 b) 58.3 c) 81.8 d) 61.3

 

94. The least number that can be subtracted from 26309 to be exactly divisible by 5 [26309 1 ¬Û1± øfl¡ é≈¬^Ó¬˜ ̧ —‡…± ø¬ıÀ˚̨±· fl¡ø1À˘

ø¬ıÀ ˛̊±·Ù¬˘ 5 Œ1 ø¬ıˆ¬±Ê√… ̋ √√í¬ı--]

a) 5 b) 9 c) 4 d) None of these [¤È¬±› Ú √̋√̊ ]̨
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95. 1 paise = [1 ¬Û˝◊√√Â√± = ]

a) Rs. 0.01 [È¬fl¡±] b) Rs. 0.001 [È¬fl¡±] c) Rs. 0.1 [È¬fl¡±] d) None of these [¤È¬±› Ú √̋√̊ ]̨

96. The result of =++

4

1
5.

2

1
          [ =++

4

1
5.

2

1
]

a) 1.5 b) 1.05 c)
8

5.1
d)

4

1
1

97. PQRS is a rectangle where PQ = 5 cm and QR = 3.8 cm. The sum of its angles is [PQRS ¤È¬± ’± ˛̊Ó¬Àé¬Sº ̋ ◊√√̊ ˛±1 PQ = 5

ŒÂ√–ø˜– ’±1n∏ QR = 3.8 ŒÂ√–ø˜– ̋ ◊√√˚˛±1 Œfl¡±ÌÀfl¡˝◊√√È¬±1 ̧ ˜ø©Ü --]

a) 17.6º b) 8.8º c) 360º d) 180º

98. The maximum length of each piece that can be cut from 18m and 24m long strings is [18 ø˜– ’±1n∏ 24 ø˜– √œ‚˘ ≈√À˚̨±Î¬±˘ 1øÂ√1

¬Û1± fl¡±øÈ¬¬ı ¬Û1± √œ‚«Ó¬˜ õ∂øÓ¬ È≈¬fl≈¡1± 1øÂ√1 ŒÊ√±‡ ̋ √√í¬ı--]

a) 72m [ø˜–] b) 3m [ø˜–]

c) 6m [ø˜–] d) both (b) and (c) [(b) ’±1n∏ (c) Î¬◊̂ ¬À ˛̊]

99. Equilateral triangle is also known as [¸˜¬ı±U øSˆ¬≈Ê√fl¡ øfl¡ ¬ı≈ø˘› Ê√Ú± ̊ ±˚̨∑]

a) Right angled triangle  [¸˜Àfl¡±Ìœ øSˆ¬≈Ê√] b) Acute angled triangle [ ”̧ÑÀfl¡±Ìœ øSˆ¬≈Ê√]

c) Obtuse angled triangle [¶ö”̆ Œfl¡±Ìœ øSˆ¬≈Ê√] d) None of them [Œfl¡±ÀÚ±ÀÈ¬± Ú √̋√̊ ˛]

100. An acute angled triangle may be [¤È¬± ¶ö”̆ Àfl¡±Ìœ øSˆ¬≈Ê√ ̋ √√í¬ı ¬Û±À1--]

a) Scalene triangle [ø¬ı ∏̃̄ ¬ı±U øSˆ¬≈Ê√] b) Isosceles triangle [¸˜ø¡Z¬ı±U øSˆ¬≈Ê√]

c) Equilateral triangle [¸ ¬̃ı±U øS ¬̂≈Ê√] d) All of them [’±È¬± ◊̋√√Àfl¡ ◊̋√√È¬±]

*******
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